EF E A3 $=1:500

Mt EMERT K 40m3 FSFAI9—AERER N-1E

BHRE N-1E

80>

) 1)

R ZE AT E X

A3 S$=1:50

6, 480

3,479

TREREIE (RC-40) t=5cm

TR K4S 40m3  FSFA19EI—k2 4 TR%ES
RIRABTFH 2y~ @R

iR

SHTEE GHEMEREHREX
ifit A AP KRR T (RIR)

B =

£ AR
FEAENEXRSERIER

B’ H
&
REES 4 oz 1

B W &




B m

A3 §=1:50
B-B’ 6,480
4,569
DYDY % (F AR AOKNEE | 1-25)
18-8-2588 W/G=6055L )\, 01, 200
L
w -
o ‘
E
r FEEE (RC-40) t=bom
o
3
25
0 XRERIE
g N LT ) 4
: - i %’?\Q—Hﬁ S
i S </ WEEE (RC40-0)
XA L
REHBED=. FUNFIZLAREHEEREL
L. BRB L@ 5DORESH - KEHFD
o) ETFBAILICERET A2 &
8
BRI 403 FSFA19%—(ha  TRES
i RRAET 2€y 388
T
HpEavy)-+  t=15cm
01,000 4-12-2588 W/C=55%1T)
#HLavh)-t  t=bcm
. (12-8-2588)
FUh—EyF 2,560
HBEv))-t 2,800
HRFE - 9 Lav5)-b 3,000
A-A
13,780
11,869
01, 200 01,200 N
g : VA=
s [ [ &
= S 1]
Q T * ] (RC-40) t=5cm
| |
2 |
=
L o——oc—f AT%VT‘i el e — M ——
01, 000 - 01,000
3
5y 5%E 0,368
300 | HE1H)-h 0,700 00
HBRE - $9L3v8)-h 9, 900
10, 300

iR

@ﬁﬂ% SHIA MR R R
ifit AT KRR TR (IR)

= |

R

L TR
FESEDEXRSERIER

B ‘ H wE

BE‘ ‘:%9 El
- &t
HEES 4 ®Hhz 2

B W &




TEFHK

A3 S$=1:50

KEBHFIIMATESDAXER
V=h/6 (Ab+aB+2 (ab+AB) )

T TBAKKES ] A3 s=1:50
+T
6,480
HEHE FIRE CISTERN 8
[ikKkE5 2
6.129 3. 479/6% (13, 7843, 0+10. 3+6. 48+2(10. 3+3. 0+13. 78+6. 48))=202. 1m3
4 569 £y hERS 1 1. 0x1. 0%0. 1542 = 0. 3m3
1.200 $60.5-2.3t
B N " B A5 202.1+0.3= 202 4m3
s RETIEEL (REL) g 8
N _ — o
g8 RESR (GELL)
e REEFE (RC-40) t=5cm 1.569/6% (11. 869%3. 0+4. 56910, 3+2%(10. 33, 0+11. 8694, 569)) = 66. 1m3
o
5 660. 4 £ 3. 049, 9% (0. 15+0. 05) = 5. 9m3 (EBRAE - 3 L1Y-1)
; 2.8%9. 740. 15 = 4. 1m3 (EHE9Y-1) |~ N
+ (1. 21%1. 213, 14) /249. 368 = 21.5m3  (Brokits) RILINEY b G500-0.6t | A e
2 . WL £1185R P . - v5Y—t (18-8-40BB W/C=60%
g | 1@933 e J RLLER 25 66, 1-(5. 9+4.1+21.5) = 34. 6n3 avhy—+k — (;m Oj E g
1 R 2 o ¥
‘ _ RETHERE GEHY) 30‘4 50 130@
BEEE (RC40-0)
xR U (1.91-0. 05) /6% (13. 78+4. 569+11. 869%6. 48+2+ (11. 869+4. 569+13. 78%6. 48)) = 132. 3m3 1,100
g FEMROLD XN RRAaTNEEES s (1211 2143 14)/249.368 = 21.5m3  (¥okiE)
ETRLLICRET 5 &
- ‘ (0. 33+0. 33+3. 14)+0. 5+2=0. 3 (BREBATL)
| 1,241, 240, 16%2=0. 4 CE=PEUESS)
628
‘ A5 132.3-(21. 5+0. 3+0. 4)=110. Tm3
— 2
01 o0 By b EDFEE
= (1. 0%1. 0)*0. 50 = 0. 50m3
05 (0. 314%0. 3143, 14)%0. 35 = 0. 11m3
TYA—EVF 2560 &5 (0.50-0.11)%2 = 0. 8m3
HBEv))-+ 2,800
HEEE - g Lavyy-+ 3,000
13780
11869
10300
89.3m I
i
I
|
4 |
g g2 — _—— || —]
3 28
|
i RRIEE ANEREREE
| FEMEAERRTE (R
T B = B =
|
\ L rEmEs
EEFBE DRSS RIIER
|

RE ‘ H £33

BE‘ &
s B
BEES 4

]

oz 3

B W &




F &

9700
900 2700 2500 2700 900
| D g
o i o o i _
‘ Frh—RILE 8K
Eﬁﬁ&‘—xﬁﬁﬂ Eﬁﬁ&TZﬁD ®
3
| ! Nz
ta - + ts | . s oA ) s
‘ ) ‘ i o g
| | g S
[ [
1%90 1000
e I e o i e
i | i i !
8] g
‘ 1421 ‘ 6858 | 1421 ‘
Fhe ™
B & X
32@300=9600
® ® bpis @ p13 ® p13
n=6, L=9600 n=4, L=5760 n=8, L=830
100 100 100 100
®n13 i
n=8, L=700 |
@op1s [ } @
n=16, L=800 TN TN
@ [/ ! N V i
/ | A g
T 47‘47 | I I Y N I N I N N N O o 1 47‘47 [ Y | i
g
AN b N \ Al 3
@Do13 1 \ i
n=25 L=2700 = ‘ — N ‘ <
® ‘ ‘
© :
| | g
@] @ o3 D13
n=8, L=2010 n=8, L=910
3| A_Aﬁﬁﬁﬁ
e s
‘ 1 I
\ =S B -
% ‘ ) B
0 1000
1421 ‘ 6858 ‘ 1421
9700 (H#EEvHY-H

9900 (BERE - #LIH)-D

BHEEE

B S| B |k &|X H|BHER | —A4YER | B & (kg) | E RIN) |# E3
1 |D13| 2700 | 25| 0.995| 2 687 | 67. 175 | 658 32| ——-
2 D13 800 16 0. 995 0. 796 12. 736 124. 81 -
3 D13 9600 6 0. 995 9. 552 57. 312 561. 66 | ———
4 |[D13]| 5760 4] 0.995| 5 731| 22 924| 224, 66| -———
5 D13 830 8 0. 995 0. 826 6. 608 64. 76 | ———
6 [D13| 700 8| 0.995| 0.697 5.576 54,64 | ———
7 |p13]| 2010 8| 0.995| 2, 000| 16.000| 156, 80 | ———
8 D13 910 8 0. 995 0. 905 7.240 70. 95 | —-——
& &t D13 195. 571 ke (1916. 60 N)
LER 195.571 ke (1916. 60 N)
* 13, SD345LUELEWEA
X BHEERGUFEEELGVBEOERLLTLS.
(D13 % 2700 x 25 .
200 e T
@D13 %800 16
800 HEFREMR
HWFRESIT40dUE, BESRFOMEZ25dUELT S,
@D13x 9600 x 6
9600 40duit
{ f
@D13x5760x 4
5760
.,
-
©D13x830x8
®D13x700x8 25dpl b
700
@D13x2010x8 . . =
2010 ToA—MRIL MR (1/10)

®D13x910x8
910
—

XEBFICFHEEROZ L

M2 4
PURLE Ay FRE X HBCHRIEDILE)

. Fﬂﬂ%
L]

230

mEE
XEEF TR
(RE=6 t L)

B-BifT i (X]

| MR

| | i HIEREME %
iy ‘ el RIS TE (SR)
[P ‘ T \ B = B R

‘ N
0 1000

@ T E A
EEAEDEXALERIER

120 2560 (Frh—EvF) 120 i E)
=
(E#))-H)
20 = BEES 4 Rz 4
3000 (EHRE - HLYY-H

B W &




1 ¢ 2500

el
g
10 My h 4o ab eh w90 S0 100 110 13 1k 140 180 180

it




